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1. Llegiu el text segiient i marqueu la resposta correcta.
L’espai 0 és un exemple.

0 Paul,
I’m very happy to be 1 pen friend. I'1l tell you about myself.I’'m 16 years
2 .Iwasbornin Tarragona butIlive in a village next 3 Barcelona.
I have two brothers. Their names are Pol and Ricard. They work 4
mechanics in a service station from 8.00 to 19.00 so they work 5 lot of
hours. I love books and 6 ,that’s why I want to become a 7 .Ilike

football too and I play every Tuesday and Thursday. 8 youhave any hobbies?

Please write to me soon.
All the best,

Joan

Example:

0. a)Lovely b) Friend c) Good d) Dear

1. a)your b) his c) you d) yours

2. a)all b) old c)age d) young
3. a)from b) of c) to d) in

4. a)as b )how c) like d) of

5. a)0d b) some ¢) an d)a

6. a) writting b) write c) writes d) writing
7. a) best-selling b) designer c) reader d) writer

8. a)Do b) Are c) Does d) Have



2. Llegiu el text segiient i responeu les preguntes:

Last summer Miguel and Roger decided to drive to the north of France. The car
belonged to Miguel’s father and was very old. When they left everything was fine
but two hours later the car stopped and it was impossible to startitagain. They found
a telephone box and called an emergency service. They decided to wait in a café
because it was very cold. Inside, they saw a familiar face. It was David, a friend
of Roger’s from university. He lived in that part of the country. David invited
them to stay in his home and they accepted. They had a very nice lunch there but
when they went back to the car, it was not there anymore. David accompanied
them to the police station and they spent the night in his house. They were very
lucky to have a friend like him!

A) Marqueu laresposta correcta d’entre les tres que es proposen.

Example
0. (a)Miguel had a car
(b) Roger had a car
(c) Miguel’s father had a car

1. (a) They had problems with the car from the beginning
(b) They had problems with the car a couple of hours after leaving
(c) They had no problems with the car

2. (a) They phoned from the café
(b) They phoned from a mobile
(¢c) They probably phoned from the street

3. (a)Miguel knew Roger from University
(b) Miguel knew David from University
(c) Roger knew David from University

4. (a) David helped Roger and Miguel
(b) David didn’t help Roger and Miguel
(c) David helped Roger but not Miguel



B) Contesteu breument les preguntes segiients:

- Es proposen algunes respostes perd també es considerara correcta qualsevol
altra que sigui coherent i que demostrila comprensio del text.

1. Why was David in France?

Because he lived there

He was in France because he lived there

2.1Is David a good friend? Why? Why not?

Yes, he is. He helped Miguel and Roger a lot.

Yes, he is. He invited them/Miguel and Roger.

Yes, he is. He invited them to lunch and to spend the night in his house



